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Can our work be 
O(change)instead of 

O(program)?
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void p(int& x) {

if (x < 0) {
x= -1;
return;

}
x--; 
if (x >= 1) {

x= x+1;
return;

} else
while ( x == 1);

x=0;
}

x = 0

x >= 1

x = -1

x = x+1

x < 0

F

F T

T

x := x-1

x == 1
T

F
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x = 0

x >= 1

x = -1

2A�2B!

x < 0
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x := x-1

x == 1
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R� (x) = x � 0 � x-1� 1

T� (x) = (x)

x = 0

x >= 1

x = -1

2 �A�2B!

x < 0

F

F T

T

x := x-1

x == 1
T

F
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x = 0

x >= 1

x = -1

%�A�2B!

x < 0

F

F T

T

x := x-1

x == 1
T

F

R� (x,y) = 
x � 0 � x-1 � 1

T� (x,y) = (x-1,x)



*%�������	2	��
���

# ����
�&������	
� ��	���&	�� 
%�������&���	


# =&	�%�	2	��
������
���
�	2����	��
����&������%�-���
��	��	���

������	�.

# ���	&	�%����������� �	�
�����
%���	��� �
�
�	�����	��/�
�������

����
�
��&	�

19



*%�������	2	��
���

��	�
%�������	2	��
����/	��
	����
�


����

������
�� � �������	���	��

# � ���� �� � �

# � ���� �� � �

/�	�	� � � �	��
	
�
�	� ����
�&������	
� -
�	�
�����	
	�
 .���������	���	� �

20



�����
����
%�������	2	��
���

��



�����
����
%�������	2	��
���

��



�����
����
%�������	2	��
���

��



���������
# �����
	� ����	���	�
�����%� ��������&������

����	���	

' �
������
��
������	
� -3 ���� �� ���� .

# �����
	� ����	�	��	�
�����%� ���
��
����������
��������	���	


24



(���	���	�
�����%

# (���	���	�
�����%� �������	���	����


*�� �� � C�-3� �� � .�D�� �
�������
	���
������E

# ��	������
	
������
��
������	
���
	��
�����
��	������
	�
' ��������
���
��	��		�	�

25



=2����	

26

x=0

x >= 1

x = -1

x=x+1

x < 0

F

F T

T

x := x-1

x == 1 T
F

A possible summary
for procedure p:
sump = {(x<0,-1), (x� 2,x)}

Its uncovered part is
x� 0 � x<2
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void p1(int& x) {
if (x == 5) {

abs1(x);
if (x==0)

x = 1;
} 

}

void p2(int& x) {
if (x == 5) {

abs2(x);
if (x==0)

x = -1;
} 

}

abs1=abs2=abs
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void foo1(int a, int b) {
int c=0;
for (int i=1; i <= b; 

i++) 
c+=a;

return c;
}

void foo2(int a, int b) {
int c=0;
for (int i=1; i <= a; 

i++) 
c+=b;

return c;
}
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int main(int x) {
return 

foo(2,2);
}

int main(int x) {
if (x>=5 && 

x<7) {
return 

foo(x,5);
}

}

LoopMult2 LoopMult5
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void foo1(int a, int b) 
{

int c=0;
if (a<0) {

for (int i=1; i <= 
b; i++) 

c+=a;
}
return c;

}

void foo1(int a, int b) 
{

int c=0;
if (a<0) {

for (int i=1; i <= 
a; i++) 

c+=b;
}
return c;

}
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